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FIRST YEAR HIGHER SECONDARY EXAMINATION, JUNE 2022

Part — 11 Time : 2 Hours
STATISTICS Cool-off time : 15 Minutes

Maximum : 60 Scores

/ General Instructions to Candidates : \

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Statistical tables can be used in the examination hall.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer all questions from 1 to 10. Each carries 1 score. Choose the correct answer
of each questions. (10x1=10)

National Statistics Day is celebrated on :
(a) June 20 (b) June 29
(¢) July20 (d) July29

The data collected from school records is an example of :
(a) Primary data (b) Secondary data

(c) Tertiary data (d) Manipulated data

Suppose we have a data regarding the number of Covid cases reported in different

states of India on a particular day. The type of classification used in this data is :
(a) Quantitative (b) Qualitative

(c) Chronological (d) Geographical

The total angle in a Pie-chart is :
(a) 180° (b) 270°

(c) 360° (d) 100°

Mode of the values 15, 12, 18, 12, 14, 12 is :
(a) 15 (b) 12
(c) 18 (d 14

The range of the values 40, 52, 25, 30 is :
(@ 25 (b) 30
(c) 27 (d 77
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1 2®@3 10 a19® af)Lld GaldBLIBRBAN) DOMOOA)®)H. 1 ¢apId alle.. 83¢0d

Ga 103003 W)o VOBIWIW DOMDo HAOVHENNS)AN) . 10x1=10)
1. esudle guodiala, Glmac®l @rRya IBleeanN® ag)anoem ?
(a) 6320 (b) )63 29

(c) =eee120 (d) e=eee129

2. @3 coaldEes Mlanle cuoaIGlaiam AIq ag)IBIM DBIOEMAET) ?

(@) (o002, aWwoQ (b) ailolo awog
() @il awog (d) 20g@IOEDENGHUB QOO AWoQ

3. 80) (Ic®id Alalave HIDIWIEL! alel MVoMNIMEBEIT GO |SIOTNIW cdIaflaw’
COOUABBOS af)gRo MoNITWla| B0} AWIQ MMAP LIGYAIHEMIN BHOYM. DD

WoQ@8 alc@oUl o IGlENIMN® aB® ®@o AIBYlbesmAdeM :
(a) wemoT!ro (b) wEMocB0

(c)  BORIDM)TVY®O (d) @2luoYal0e

4. 80)660al 210851608 GRYOD CHIEM SOl
(a) 180° (b) 270°
(c) 360° (d) 100°

5. 15,12, 18, 12, 14, 12 agyavl aileisg)es caoaw :
(@ 15 (b) 12
(c) 18 (d 14

6. 40,52,25,30 agaril aileisg)es cosml :
(a) 25 (b) 30
(c) 27 (d 77
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7. Which of the following is true for a symmetric distribution ?
(a) Mean < Median < Mode (b) Mean = Median = Mode

(c) Mean > Median > Mode (d) Mean # Median # Mode

8. LetA={1,5},B={1,2},C=(2,3,5} and D =(4, 5, 6} be the events associated with

the experiment of tossing a die. Which of the following events are exhaustive ?
(a) A,B b A,C

(c) A,B,C (d B,C,D

9. IfP(A and B) =P(A) x P(B), P(A) # 0, P(B) # 0, then events A and B are :

(a) Independent events (b) Mutually exclusive events

(c) Exhaustive events (d) Equally likely events

10. Which of the following is a probability sampling ?

(a) Judgement sampling (b)  Stratified sampling
(c) Convenience sampling (d) Quota sampling
Answer any six questions from 11 to 20. Each carries 2 scores. 6x2=12)

11. Name any 4 methods of collecting primary data.

12.  Write any 2 differences between questionnaire and schedule.
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7. 80) radle al®eemaEsics @69 al0@INAIRIGE aB® (@ ITIQAIMIEM (0@l ?
(a) @owyo < dlalad < eaoaw’ (b) @owye = dllalad = eaoaw’

(c) m@owyo > dilalad > eaoaw’ (d) @owye # Aol # caoaw

8. A={1,5},B={1,2},C=1{2,3,5},D={4,5, 6} agamlal 80} aldlS af)0l@yan
alBlGUIMOTIOR!  DAINBHBOGN. @Y  al0WAMAIXI@E  ABODLIONEM  AVAW

eDQIM)HUD (exhaustive events) ?
(a) A,B b A,C

(c) A,B,C (d B,C,D

9.  P(A @) B @)p)=P(A) x P(B), P(A) # 0, P(B) # 0 @9@0@3 A @) B @)o:
(@) VOO AING)HUd (b)  al0TyO eHalIR! DAINGIHUB

()  avaw BaIMBHUD (d)  ©@ely VoW HAIMGHUD

10.  ©06¢ a10@)MAIWI@ MVoEIAYD®O (IDID)AleMo aG@®I6rn ?
(a) @Ballw] (@Ilo)atemo (b) Q@D (1T} 1Mo

() AVIBO (EIDIO)AIEMo (d) aladl® @EI®Io)alemo

11 2)®@3 20 Q190 aBo®EsIEl)o 6 G218 1BIBAN TMOOAY)®)d. 2 GaVIAQ allo.
(6x2=12)

11.  (a10102ila Wwoq croaIGldnMTIMSS aBo@Es1Ll)o 4 2OBPEIBUB af) V).

12, Ga10650Iel@)0 HeHA B @AENSS aBO@EIL0 2 QI OAVEIBUD af)$)®)H:.
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13.

14.

15.

16.

17.

18.

19.

20.

Draw a blank table to represent the following information :

Gender : Male, Female

Education status . Under Graduate, Graduate

Employment status : Employed, Unemployed

Prepare a relative frequency table to the following data :

Height 110-120

120 - 130

130 — 140

140 — 150

150 — 160

160 -170

Frequency 8

18

20

28

16

10

Name any 4 diagrams used in statistical analysis.

Write any two differences between bar diagram and histogram.

The average weight of 30 boys in a class was calculated to be 55 kgs. Later it was

detected that the weight of a boy was wrongly copied as 15 instead of 45. Find the

correct average.

The quartiles of a data are 25, 32 and 47 respectively. Find the quartile deviation.

The mean, mode and standard deviation of a distribution are 58, 62 and 8.1

respectively. Find the Karl Pearson’s coefficient of skewness.

2

3

A and B are events with P(A) = 3’ P(B) = gand P(A and B) = % Find P(A/B).
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13.

14, anates ®@amlaleaan aogaes @RCa Ml @RAIOII alSld MQION)D
DWW 110-120 | 120-130 | 130—-140 | 140150 | 150-160 | 160—170
@RYQUYOII 8 18 20 28 16 10

15, avooaild allvodheiIm@TNE DalcOUlema ago®eslele 4 2ll(@EBSIOS Cald)dhud
)Y,

16. M@ W@WANe w0leaROIN) @IENSS RO@BILNe ONE QI OTVEBUD
)Y,

17. &80} gomeel 30 @RMBGSIHS)es 0EdwaEl €00 55 &l.(Woadem. allafls’ &)
SHIFGOPs @00 15 Slwodlm  ald»oo 45 @lwoearn  o®Qow
COaO |S)OMIWIBIENM®OW] BH6)6NEEIDI. LDBIWIW YOEIUNA] &heNE)a lSIH)d.

18. 80} WoQWes cHIOBHONFLNGHUD INDA 25, 32, 47 af)arlaiIsm. CHl0B866303
QU@IOIMo BHeNe)allSlen)d.

19. &0 oﬂ@@sm@roﬂac@ @OWYo, GROAW, %rgooﬂcz(w(aw" Alafleaud ag)anlal QLN (@ Mo
58, 62, 8.1 af)alaI@o6em. $H0Ud allcYILAS AVIOMAV UEMIBH0 HOEM)D .

2 3 1 . o

20. P(A) = 3 P(B) = 3’ P(A @p B @)p) = 3 @YW O6MNE HAIMBHB06M A @) B @0
P(A/B) &»61e)ailSlan)s.
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21.

22.

23.

24.

25.

Answer any four questions from 21 to 27. Each carries 3 scores. 4x3=12)
(a) Who is known as the father of modern statistics ?

(b) Write a short note on ISI. 1+2)

The scores obtained by 30 students in a class test are given below :
15, 18, 22, 25, 29, 8§, 12, 16, 15, 26,
7, 3, 18, 13, 9, 19, 11, 16, 18, 0,
21, 16, 28, 5, 7, 12, 16, 8, 10, 9,

Construct a frequency table with classes begin with 0 — 5.

The following data shows the monthly expenditure of a family for one year. Find the

average monthly expenditure :

Expenditure 5000 | 6000 | 6500 | 7000

No. of months 3 4 2 3

From the analysis of monthly wages paid to employees in two organizations X and Y,

the following results were obtained.

X Y
No. of employees : 450 550
Average monthly wage 5500 5000

Find the average monthly wage of all the employees taken together.

Find the covariance between X and Y for the following data :
X: 10 12 20 18 25

Y: 15 18 27 21 30
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21 2)®@3 27 Q10 aBO@&Eo 4 G103 IBUdEH DOMOOALI®)h. 3 cALIA all@o.

4x3=12)
21, (a)  @RWMIe: Aoglelend o lmoal ag)adloWea |S)IAN®IOOIE ?
(b) ISl o @)dlaf B0} £12e1) B)Tla] af) 91O 1+2)

22. 80} Goav easaylad 30 $)5lau3as) IEla] GILIO)HUB 21)0IOS O] :
15, 18, 22, 25, 29, 8, 12, 16, 15, 26,
7, 3, 18, 13, 9, 19, 11, 16, 18, 6,
21, 16, 28, 5, 7, 12, 16, 8, 10, 9,

0 — 5 a)aM HoVIG8 @RYOElBN)AM B30} ARYAISDATI alSld HYONIBN ).

23. 80} HSPMIOTIOM B0} QAUGHUODTD ATV Q2 lLIONGHOS GGl }B8 AUIQWIE)

21)Q16S OBGIS)ANIND. YdOOUIE! AOAV HalLIQl @6eNelalSlee)d: :

ealelal 5000 | 6000 | 6500 | 7000

MOAVEIBBIOS af)§iNo : 3 4 2 3

24. X, Y o)l e qLoIsMGSIOr DEEIANIOMAS ATV CAMMET &)0l2 )88

aflvodeINEIE3 1Ele] AllaIEEBU3 21)AIOS MT@IE)AM).

X Y
DEBLNILOMOS af)giRo 450 550
oIVOE] MOAVL GAIGMo - 5500 5000

Q6NE MVPLISMIERIV]e @S] BRYABHIBB DEBLONAVLNOIOS YOG EAUDMo Gh6NE)

allSlee)s.

25, 21)016S ®O)IM A0 Dalc@IUTlaf X, Y ®onilenss ¢:0eaIcl@amay &0em)d |
X: 10 1220 18 25
Y: 15 18 27 21 30
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26. (a) The probability of something certain to occur is

@ 0

(iii) 1

(i) 0.5

(iv)

(b) State the addition theorem on probability.

o0

(1+2)

27. A bag contains 7 red and 3 black balls and another bag contains 4 red and 6 black balls.

One of the bags is selected at random and a ball is drawn from it. It is a red ball. Find

the probability that the bag selected is the first bag.

Answer any four questions from 28 to 33. Each carries 4 scores. 4 x4=16)
28. Distinguish between primary data and secondary data.
29. Draw a histogram to the following data :
Score 0-10 | 10-20 | 20—30 | 30—40 | 40—50 | 50-60
No. of students 8 12 15 11 7 3
30. (a) The geometric mean of the values 4 and 5 is :
(i) % (i) 4x5

(iii) V4x5

(iv)

(b) A person drove a car from city A to city B at a speed of 60 km/hr. On his return

journey he reduces the speed to 40 km/hr. Find the average speed of the entire

journey.

FY-32
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26. (a) opem@BIEN 9000 qVoallag)M@IOM aV)ailaflemnan TLoEdAIG®IEM

1 o0 (i) 0.5
(i) 1 (iv) o
(b)  aVoERIAIGWIOS AVELLIM AVIBLING (AITNAIIGEIENG:. a1+2)

27. &0 nUIG3 7 2RI al®)BGlo 3 HOYOD alMMDHBMME. 26900} nIUAE3 4
2AUM®Y) 6 SHO)ODOAOXY  alMBIAPNE. MA@ MM S0}  eNIY
ODOHETNS) NG M GUdaHo BRMIG MIANo 60} AIHANSITIN). af)SITIN® 630} 21}QIaM
alMMI6EMET3 @R BANINETH 61UIUIIE3 WIIMIBOIMBS TMVoRIAILD BH6IMN):.

28 2)®@3 33 Q190 aBO@BILN0 4 G103 EBUIEH DOMOOAL)®)h. 4 GALIA all@o.

(4 x4=16)
28. (101021l WwoQ®)o BBl AWog@)e MenilENSs Al PAVEIBUD af)9)DD .
29.  @amldleeam AWwog@eSs aSlEaROUNe QIO :
gVl 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-060
>)S1HB)OS 8 12 15 11 7 3
2f)gIRo

30. (a) 4,5 aga7l alleisg)es cRalcilo nowimoem :

(i) % (i) 4x5
(i) 4x5 iv) 2

5
(b) gl A @@ adlanpe adigl B @fleeios 630003 60 km/hr caln®@I@d &001@3

Ve ITlaf). @NTOHB8 WOMXI@ @PWouwd 40 km/hr eIV I@3

aLEAIG]2). af)EBHIT3 DYIAUAT WI(@WOS YOOIVDE] CAUND dHerBlallslens. (1 +3)
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31. The price trends of two stocks X and Y over a period of 30 days were analysed. The

following results were obtained :

Stock | Mean of Prices | SD of prices

95 20.5

121.5 523

Which stock is more consistent ?

32. (a) Which of the following is true for a negatively skewed distribution ?
(i) =0 (i) py<0
(iii)) py>0 (iv) py=3
(b) Explain different types of Kurtosis by the help of diagrams. 1+3)
33. (a) The number of SRSWOR of size n taken from a population with size N is :
(i N (i) NC,
(ii)) NP, (iv) n?
(b) Write a note on systematic sampling. 1+3)
Answer any two questions from 34 to 36. Each carries 5 scores. 2x5=10)
34. (a) Median can be located graphically using :
(i) Histogram (i) Frequency polygon
(i) Ogives (iv) Scatter plot
(b) The scores obtained by 60 students in an examination was given below :
Score 0-10 | 10—20 | 20—-30 | 30—-40 | 40—-50 | 50-60
No. of students 3 12 18 15 8 4
Find the Median score. a+4
FY-32 12



3. X, Y agya7il 0ene’ 30a0a@lagies 30 dlairveo® alleledd alluodbeiMo §a10®ealoud

e1€la] la16I3Ud 21)016S @E)IM]

630200l aflelsg)es aflelsg)es
@OWYo SD
95 20.5
121.5 523

B3)S) @3 TLOlOMWBS B30a0G] aB@6D ?

32. (a)
(b)
33. (a)
(b)

80) emwnglal avemaV 988 AllmEeMEDIN Y al0oWIANAIVIGE VDBIWOW
3 glal )

co™ ?
@ =0 (i) py<0
(iii) py>0 (iv) py=3

aflallw @™o &Be5TIMV)»HeS 2 I(@6B8)HS TVa0dWEMI@3 allaldleme. (1 +3)

aleflaje N @p©@ 80} (vacydloiad @lanp af)Sieeoanan aleflajo n R

SRSWOR &8)6S ag)smo

(i) N, (i) NC,

(ii)) NP, (iv) n?

(HAOMTVI® (IO leMEOTNG)O2] 630} B)Gla] af) 9. 1+3)

34 2)®@3 36 Q1O aBO@BILN0 2 G213 EBUIBH DOMOOALI®)h. 5 cALIA all@o.

34. (a)
(b)
FY-32

2x5=10)
AWl &HoeMAN@IM DalCOUWHNNAM (NIaN6M)
(1)  oolequowo (i1)  @RAIGITI Minm).)R0
(1il) B0OORAUBHUD (iv) apoQad eglog
830} a1BlHUDN @8 60 3)G1BHURBBS LIEla] CAPIN)BHUB 21)QIONS GOYIM] :
capod 0-10 | 10—-20 | 20—-30 | 30—-40 | 40-50 | 50-60
>)S1DH8)0S 3 12 18 15 8 4
af)§IRo
Alawl@ad ¢aPId@ &H06mM)d. 1+4)

13 P.T.O.



35. Find the standard deviation of the following data :

Age

0-4

4-8

812

12 -16

16 - 20

No. of persons

4

8

10

36. (a) A and B are events with P(A) = 0.35, P(B) = 0.57 and P(A or B) = 0.89.

Find P(A and B).

(b) A box contains 5 red, 10 blue and 15 green balls. 3 balls are drawn at random.

What is the probability of getting

(1) 3 green balls

(i) 2 blue and 1 red balls

(i11)) No green balls.

FY-32
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35.  @alcleeam adqies quomdanddaw alolc@auad &oem)d :

v

QAL

0-4

4-8

812

12-16

16 - 20

@RYUISHIDYOS )Mo

10

36. (a) A, B ogarl gpaiadieBas P(A) = 0.35, P(B) = 0.57, P(A cwo B cwd) = 0.89

@RYWID3.

P(A @)o B @)o) @06mM)c.

(b) 80} 6aIgIIGE 5 aljala], 10 dfler 15 ala) al0m)H@d 9. so@Ie3 alan)o 3

AlTNDHUB OMOOENNSIANOT3 GINY al0WIMMAI LIEIBGNHIMBB MVoRIAIMHUD

DO

(1) 3 ala] al)03

(i) 2 ddlel, 1 anolal al0m)0d

(iil)  alajal0)DHUB @RLJOGIBIEHOD

FY-32
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